Prefixes – Hot
A. Fill in the most appropriate words to complete the passage:

It would be terribly ________ if the ________ of the robot needed a lot of __________ for it to carry out the tasks in the direction expected. It would certainly mean ___________ from the competition if it _________ does the wrong actions on the day. However, it would be __________ to start all over again, as it does most actions perfectly. We need to make a __________ decision on how to proceed.

counterproductive	   prototype	   unanimous		realignment 

	inconvenient		 disqualification		unintentionally	


B. The vowels have been removed from these words. Write the complete word:

1. sea between Southern Europe and the North of Africa – Mdtrrnn
2. a book about a person’s life, written by them – tbgrphy
3. to go downwards – dscnd
4. a shell-like structure on the outside of the body – xskltn
5. the action of going around to avoid an obstacle – crcmnvgtn
6. can catch fire easily – nflmmbl
7. failing to operate properly – dysfnctnl
8. in time order – chrnlgcl
9. chemical reaction producing food for a plant – phtsynthss
10. [bookmark: _GoBack] thinking about thinking - mtcgntn

				

		
